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5.58 10-12, 14, 26, 28

Double-Angle Formulas

sin 2u = 2 sin u cos u

Y .., Jai 7y
cos 2u = cos2u — sin®u

=2cos?u — 1
2tan u

tan2u = ——— =1—2sinu
| — tan“u

Find the exact solutions of the equation in the interval [0,2pi).
10) 102X +CoSX =0 <_I—
ASINX CoSX 4 COS X.=O

LosX (230X +1) =o

tosx =o 25N+l =0
QA3nxk = -l 3
siny=-% 'l
¢ # 1
| e 2 g
X= X= =Z

1) 4SinXCosx =1/

25/nX CoSX + 23/n% oSX =/ 211
S/N2X + Sinzx=/ J3
25 n2x = |/

Sinzx=73% @? ’:L_(zibf(?'{*fzﬂn)é: 5(2%{%”21"\)1;_

x-::p;-mn X= 5'1{.'-1”\

Soluti ons in the jnterval [0,277)

.g‘, L-;.;’; 3;!; .’%7_’" % aDd = until you gt o 207

12) Sia2x 510X = (o5X ¥ Dovtd - A5 formula
25i0X COSX Sihk = CosX Cosx=0 sinx=tH
23/n3X C0SX = COSX .
250X 05 X~ CoSX =0 ~$‘

Cosx [(25in* ~=() =0

CosX =0 25 =1 x=4 3
sintX >3 siaxcig
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Double-Angle Formulas

sin 2u = 2 jn. H COS U con : ;&:;::2 ‘: —M[l_ !
tan 2u = ﬁ =1 — 2sin®u
14) (052X t5iAX =0
1-23)/0"X 4+ %1nX =0
“2Sjn?3*X + SinX «+ 1| =0
~(25n*X -Sinx - 1) =O A x*-x-I
“(28i0Y +1) ( Syax-1) =O (2X 4+ (x-1)
A A9NX+1=0 Siny=1=0
8@ siny = ~\h Siax=I
- 1. D
% ] N
0'= E‘
=9 X=1n X=
X7 o 3

Find the exact value of sin 2u, cos 2u and tan 2u using the double-angle formulas.

2¢) cob=-7, F<ucaer

. T 4 > 2T
Sin24 = 231N CoS = M"'
- -~ H.. -1 1
> 3(07"7)(15'—;) 17 i
oS 2mm = oS m-3Sin*un P
d\2_r-L\2 | Le_ - IS
(077) ( uﬁ) A & 17
tan2m= 2tanuh - 2 ("% - - _ %
- 2 - L =
1=70Nn " 1- (-4)? Ui "'{

S
-1 A=A -8
2 TS
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Find the exact value of sin 2u, cos 2u and tan 2u using the double-angle formulas.

28) escw =3, Seumem -|f?‘
-2J2

sin2u4 = 23InWw CngM =
- - - |-4a
=a(3) )= [

oS 2 = (oS L -Sin™un

- 2 2 _ 2_4 =
= (30 (%) - §-4 3
ran2m = 2tunu - 2a(2@) - "B - ~&
- 1on M = (253)" =%
- -Ll.g2 = =2 = —8V2
=7 IE 14
= -_‘-!_Jg

7

saving journal files Page 4



